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438 - 215 =

396 - 274 =

564 - 233 =

Choose a written method to calculate the following: Step 1            
                                    

294557

320085

901028

615221

1580902

1904818
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Written subtraction

2432 - 1320 =

3864 - 2135 =

4649 - 2335 =

Choose a written method to calculate the following: Step 2            
                                    

Choose a written method to calculate the following: Step 3            
                                    

518 - 325 =
452 - 273 =
542 - 229 =

3380 - 3254 =
3961 - 2732 =
5424 - 2293 =

612 - 325 =
424 - 276 =
815 - 699 =

5183 - 3258 =
4574 - 2736 =
5432 - 3269 =

Ryan is saving his pocket money to buy a trampoline. The
trampoline costs £358. He has saved £186.
How much more does he need to save?

Lucinda earned 3230 points on TTRockstars. She bought a
new instrument which cost her 1099 points.
How many points does she have left?

Solve the word problem:            
                                    



Choose a written method to calculate the following: Step 1            
                                    

294557

320085

901028

615221

1580902

1904818
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Written subtraction

Choose a written method to calculate the following: Step 2            
                                    

Choose a written method to calculate the following: Step 3            
                                    

£358- £186 = £172
 

 3230 - 1099 = 2131

Solve the word problem:            
                                    

223

122

331

193
179
313

287
148
116
 

1112

1729

2314

 

126
1229
3131

1925
1838
2163


